Ho! Ho! Ho!

Work out the answers to the questions. Each number is linked to a letter. Use these letters
to reveal the punch line of the Christmas jokes. Read down each column to find the letters
in order. Remember to read the answers from top to bottom.

A B C D E F G H I J K L M
1 2 3 4 5 6 7 8 9 10 11 12 13

N ) P Q R S T u \Y W X Y VA
14 15 16 17 18 19 20 21 22 23 24 25 26

1. What do snowmen eat for lunch?

120 + =129 100 + =121 420 + = 438

110 + =113 200 + =218 310 + =329

+ 120 = 125 107 + =114
_ _ AP
20 o9
+ 220 = 222 315 + =320 ﬁ%%% %

2.  What sort of ball doesn’t bounce?

+ 120 = 139 90 + =113 + 100 =112
200 + =214 + 224 = 226 124 + =136
115 + =130 100 + = 101

3. What is a ghost’s favourite Christmas entertainment?

100+ =116 180+ =200 _ +200-=213
200 +____ =208 150 +____ =165 205 +_____ =210
999 +_____=1000 ___ +100=113

+ 440 = 454 121+____ =130

4,  What do you get if you cross a snowman with a shark?

120 + =126 122 + = 141 + 113 =122
+ 136 = 154 360 + = 380 214 + = 234
330 + = 345 723 + =725 814 + = 819
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Ho! Ho! Ho!

Work out the answers to the questions. Each number is linked to a letter. Use these letters to
reveal the punch line of the Christmas jokes. A dashed line indicates a new word. Read down
each column to find the letters in order. Remember to read the answers from top to bottom.

A B C D E F G H I J K L M
2 3 4 5 6 7 8 9 10 11 12 13

N ) P Q R S T u Vv w X Y VA
14 15 16 17 18 19 20 21 22 23 24 25 26

1. Who is Santa’s most famous elf?

227 + =232 + 310 = 316 303 + =312

208 + =220 504 + = 526 670 + = 689

2. What is Santa’s wife called?

128 + =141 205+ =213 333+ =346
853 + = 854 399+ =417 111+ =112
_ +326=344 471 +____ = 480 451+ =470
+ 150 = 175 _ +311=330
99+ =102 451+ =471 |

3.  What do you say when Santa takes the register at school?

550 + =566 119 + =138 890 + =910

301 + =319 798 + = 803 S
504 09

— + 449 = 454 200 + =214

4, What did Rudolph want for Christmas?

998 + = 999 + 424 = 431 331+___ =351

420+ 439 569 + =577 990 + =999

+ 124 = 136 400 + =419 +221 =236

555 +___ =560 _ +535=555 810 + = 824
670+ =679 679+ =680
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Ho! Ho! Ho!

Work out the answers to the questions. Each number is linked to a letter. Use these letters to
reveal the punch line of the Christmas jokes. The answers have more than one word, can you
figure out where the spaces go? Remember to read the answers from top to bottom.

A B C D E F G H I J K L M
1 2 3 4 5 6 7 8 9 10 11 12 13

N 0] P Q R S T u \Y w X Y VA
14 15 16 17 18 19 20 21 22 23 24 25 26

1. Why do reindeer wear fur coats?

521 + = 541 623+ =638 +799 = 800
+ 662 = 670 + 824 = 835 528 + =547 v

555 +____ =560 118 +____ =137 512+ =532

175+ =200 _ +215=224 144+ =153

252 + - 275 + 453 = 465 206+ =209

_ +116=131 652+ =664 213 + - 226

911+ =932 122+ =147 ©335-336 5

704 +___ =716 314+ =323 452+ =455

+ 755 =759 + 213 = 227 900 + =919

202 + =214 711 + =727

+ 519 = 534 888 + = 900

2.  What is a duck’s favourite decoration at Christmas?

521+ =524 801+ =814 717+ =720

4966 =974 519+ =520 _ +288=299
+ 411 = 429 703+ =722 618 + =623

209 + =218 433 + =450 310+ =328

541 + = 560 829+ =850 519+ =538
+211 = 231 979+ =980
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Ho! Ho! Ho!

the answers from top to bottom.

Work out the answers to the questions. Each number is linked to a letter. Use
these letters to reveal the punch line of the Christmas jokes. The answers have
more than one word, can you figure out where the spaces go? Remember to read

A B C D E F G | H I J K L M
2 5 6 7 8 9 10 11 12 13
N 0 p Q R S T U v | w | X Y yA
14 15 16 17 18 19 20 21 22 23 24 25 26
1. Why is Prancer always wet?
458 + = 460 204 + =212 516 + =525
S S - o
167 + =172 493 + - 498 213 + = 227 :
721 + =724 + 117 = 126 313 + =317
+ 921 =922 + 871 =890 + 883 = 888
891 + =012 345 + = 346 697 + =702
S
322 + = 341 401 + = 419 111 + =129 &
+ 181 = 186 899 + =900
2. How do sheep greet each other at Christmas?
978 + =979 672 + = 680 244 + =263
669 + = 682 421 + =439 135 + = 155 B
963 + =068 710 + =719 + 224 = 239
+ 402 = 420 219 + =238 801 + = 806
671 + = 689 + 248 = 268 617 + = 640
889 + = 914 333 + = 346 777 + =782
133 + =136 555 + = 556
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Ho! Ho! Ho! Answers

*

1. What do snowmen eat for lunch? Iceburgers!

2. What sort of ball doesn’t bounce? Snowball!

3. What is a ghost’s favourite Christmas entertainment? Phantomime!
4. What do you get if you cross a snowman and a shark? Frostbite!
* %

1. Whois Santa’s most famous elf? Elfvis!

2. What is Santa’s wife called? Mary Christmas!

3. What do you say when Santa takes the register at school? Present!
4. What did Rudolph want for Christmas? A Sleighstation!

* w %

1. Why do reindeer wear fur coats? They would look silly in plastic macs!
2. What is a duck’s favourite decoration at Christmas? Christmas Quackers!

1. Why is Prancer always wet? Because he is a rain-deer!
How do sheep greet each other at Christmas? A Merry Christmas to ewe!
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